Urniviun

all |

atl1*CurMon:Entry$

0.05[ -,

0.04%%

0.03

0.02

0.01

0

0
rund770 000 at atl1.png

100 150 200 250 300 350 400 450

Entry$

x10°

atl1*CurMon {ErrorFlag==0}

14000
- Entries 391644
12000
i Mean 0.04429
10000
- Std Dev  0.001389
8000|—
ﬁnnn}—
4000
2000 —
_I | | | | | | | | | | | || | | I
0038 004 0042 0044 0.046 0.048 005 0.052

atl1 *CurMon

40000

30000

20000

10000¢

100007

20000

30000

40000

asym_atl1/ppm:pattern_number {ErrorFlag==0}

B [ T T 1]

|||||P<'|§i{.ilillll

EKKK

|
I

e

A
I

e

e

e

e
{ =
]

e
WO

| s e

{
{

DII

10000 20000 30000 40000

50000 60000
pattern_number

asym_atl1

B Entries 48893
170

B Mean 15.39
160 Std Dev 1712

_ Underflow 1.772e+04
150— L

B 7

B Jﬂ s i || Overflow 1.757e+04
140 | [1 T
1304 Hl l -J -h

: | I
120 ' _
110 J

: | I | | I | | | I I | | I I | | I | | I |
—3000 2000 —1000 0 1000 2000 3000

ppm




atl2*CurMon:Entry$ atl2*CurMon {ErrorFlag==0} asym_atl2/ppm:pattern_number {ErrorFlag==0} asym_atl2
= Entri 48893
0.035 i thTree 30000 190 ies
[ XX MK B Mean 28.98
0.0 140001 Entries 391644 i SV 180
i 20000 % T BT i Std Dev 1714
l 12000~ Mean 0.03067 B
0.025— _ I 170~ Underflow 1.687e+04
- B 10000~ - N
B 10000 n Std Dev  0.0008487 | 1 B _ Overflow 1.671e+04
0.02F - ! 160 |
0.015 i i | 1som I ' i 1
: 6000~ 10000 | [
0.01 I 140 |
B 4000 | 1 -
- - 20000 % | “5X [ slg ot -
0.005 i g ﬁ% g % ﬁ%é;{ 130
B 2000 g S XK -
. - 30000 g M :
n_ ] I|IIII III|IIII|IIII|IIII|IIII|IIII|III D_I |II ] |||IIII| B II|IIII|IIII|IIII|IIII|IIII ‘IED—_IIII|IIII|IIII|IIII|IIII|IIII
0 50 100 150 200 250 300 350 400 450 0.027 0.02 033 0.034 0.035 0 10000 20000 30000 40000 50000 60000 -3000 -2000 1000 2000 3000

rund770 000 at atl2.png

Entry$

atl2*CurMon

pattern_number

ppm



atr1*CurMon:Entry$

0.06

Urniviun

0.05

all |

0.04

0.03

0.02

0.01

n I|IIII

0 50
rund770 000 at atrl.png

100 150 200 250 300 350 400 450

Entry$

x10°

18000

16000

14000

12000

10000

8000

6000

4000

2000

atr1*CurMon {ErrorFlag==0}

evilree

Entries 391644

Mean 0.05154

Std Dev 0.001221

0.046 0.048

0.05

1 | |
0.052

| | |
0.054

0.056 0.058
atr1*CurMon

40000

30000

20000 -

10000

10000 {

20000}

30000

40000

asym_atr1/ppm:pattern_number {ErrorFlag==0}

B [T T T T 1]
|

-

|

U
I

4

10000

20000 30000 40000 50000 60000
pattern_number

asym_atr1

B Entries 48893
160 E

- Mean 18.85
155

- ] Std Dev 1709
150

- m Underflow 1.744e+04
145 -

- | Overflow 1.761e+04
140 - L]
135
130 I
1255% ﬂl [

1201
1 .I 5 -—-_I L1 1 | I I | | I I | I I | L1 1 1 | I I
-3000 -2000 1000 0 1000 2000 3000
ppm




atr2*CurMon:Entry$

0.045

0.04588
0.0357%
0.03

0.025

0.02

0.015

0.01

0.005

rund770 000 at atr2.png

n ]
0 50 100 150 200 250 300 350 400 450

Entry$

x10°

18000
16000
14000
12000
10000
8000
6000
4000

2000

§

atr2*CurMon {ErrorFlag==0}

INEENAREN

evtlree
Entries 391644
Mean 0.03745

Std Dev  0.0008264

.0330.0340.0350.0360.0370.0380.039 0.04 0.0410.042

atr2*CurMon

30000

20000

10000}

10000

20000 =L LS L5

30000

asym_atr2/ppm:pattern_number {ErrorFlag==0}

':'ﬁ?g@:{llllll

-
o
—

.

SR WO
RV,

| R

0

10000 20000 30000 40000

50000 60000
pattern_number

asym_atr2

190~ Entries 48893
B Mean 4.619
180~ Std Dev 1718
i Underflow 1.677e+04
170~ 1
{ il Overflow 1.663e+04
160} l [ 'lﬂ It
1
150 [ ' J jd
14D:_J' h
130
1 I I | | I O | | | I I | | I O | | I I | | I O |
—3000 2000 —1000 0 1000 2000 3000
ppm




asym_atll

asym_atl2

asym_atrl

asym_atr2

rund770 000 asym at mutual”

Al

| 0.04F a | 50
0.03F
- —{a0¢
0.02
0.01F
- 30(
o
-0.01 20¢
-0.02-
—ﬂ.naf— 10¢
—0.04 m
B |IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|I
0.04-0.03-0.02-0.01 0 001 0.02 0.03 0.04
asym_atll
N
. 0.03 _lasc
0.02f- —jAoc
- —35(
0.01
o
—0.01 O
~0.02-
~0.03

as

—{].ﬂ-d- -0.03-0.02-001 O

0.01 0.02 0.03 0.04
asym_atl1

B I
- 0.04F u
N —{50¢
0.03F
0.02 —40(
E m
0.01F
- 30
0
-0.01F 20(
-0.02
- 10
~0.03
—ﬂ.ﬂ4: |IIIIIIIIIlIIIIlIIIIlIIII|IIII|IIII|IIII|I
-0.04-0.03-002-001 0 0.01 0.02 0.03 0.04
asym_atll
as
| 0.03F —45¢
i —{40(
0.021
- —(35(
0.01
{]:— |
-0.01
-0.02|
—ﬂ.na_— u
[ |IIIIIIIIIlIIIIlIIIIlIIII|IIII|IIII|IIII|I
0.01 0.02 0.04

“torre

as

0.04F
T " a5t
0.03F
n —40(
0.02 5 .
0.01F 30
L= 25(
-0.01F 20(
~0.02F 150
~0.03 10¢
- 50
—0.04F
B I L1 11 | L1 1 1 I L1 1 1 | L1 1 1 | L1 1 1 | L1 1 1 | | ,D
003 002 001 0 001 002 003
asym_atl2
al.._ —45(
. 0.031
| N —40(
0.021- lag
0.01F 30
- 25¢
o
N 20(
—0.01 J5¢
—0.02 10(
- 50(
-0.03
i I L1 11 | 11 1 1 I I | | L1 1 1 | L1 1 1 | L1 11 | | {]
003 002 —001 0 001 002 003
asym_atl2
AS
N — —50(
- 0.04F u
B [
0.03F
- —40(
0.02
0.01 :— a0¢
oF L
- 20(
-0.01F
-0.02
B 10(
~0.03 -
B |
__D an; B I 11 11 | 1 1 1 1 I 11 1 1 | 11 1 1 | 1 1 1 1 | 11 1 | | ,D
003 002 —001 0 001 002 003
asym_atl2
s
- —45(
| 0.03F
- - —40(
0.02
- —35(
0.01 —30¢
n 25¢
o
- 20(
~0.01
n 15(
-0.02(~ 10
-0.03F 20

lation-

—-0.01

COLEZ.png

as

- [
| n.m:— -
- —{50¢
0.03F
n.nzz— _Laoc
0.01
" O
ofb 30¢
-0.01F
- 20¢
-0.02-
~0.03 10(
—0.04F u
_I L1 1 | L1 11 | L1 11 I L1 11 | L1 11 | L1 11 | 1111 I | | | 11 ,D
—-0.04 -0.03 002 001 0 0.01 002 0.03 0.04
asym_atri
s
- —{50¢
. 0.031
0.021— aoc
0.01F
- 30¢
- O
o
- 20(
—0.01
-0.02(— 10
~0.03- m
_I 111 | L 111 | L1111 I L1 11 | 1111 | 1111 | L1 11 I L1 11 | 11 ,D
—-0.04 -0.03 002 001 0 0.01 002 0.03 0.04
asym_atri
aL: - —50(
. 0.04F
- O
0.03
- —40(
0.02
0.01 300
o
- 200
-0.01
—0.02
- 10(
~0.03
—ﬂ.ﬂ _I 1 11 | 1L 111 | 1111 I 1111 | 1111 | 1 11 1 | 1111 I L 111 | 1 1 ,D
9804 —0.03 0.02 0.01 0 001 002 003 004
asym_atri
s
) — —{50¢
| 0.03F
0.02 —40(
0.01
- 30¢
0 [ [ |
- O
- 20¢
-0.01
—{].GEZ— .
-0.03- =
_I 1 11 | 1L 111 | 1111 I 1111 | 1111 | 1 11 1 | 1111 I L 111 | 1 1 ,D

04 -0.03 -0.02 -0.01 0O

0.01 002 003 0.04

asym_atri

as

0.04f
T - —{45¢
0.03
- 40(
0.02 a5¢
D.ﬂ1:— 0¢
o 25(
~0.01F 200
~0.02F 150
~0.03 106
: 50
~0.04F N
_I | | | I I | | | I I | | | I I | | | I I | | | I I | | | I I | | 11 ,D
—0.03 -002 -001 0 0.01 002 003
asym_atr2
s
. 0.03F e
B —40(
0.02
N —35(
0.01F —{30¢
O m
N N
~0.01—
~0.02-
- O
~0.03 O
_I | | 111 | 111 | 111 | 111 | 111 | 111 | 1 1 ,D
—0.03 -002 -001 0 0.01 002 003
asym_atr2
s
B — - —50(
. 0.04
0.03
- —40(
0.02
0.01F
o
-0.01F
-0.02
~0.03
—ﬂ.ﬂiﬂ-: |IIII|IIII|IIII|IIII|IIII|IIII|II _D
003 002 001 0 001 002 003
asym_atr2
s
| —
- —45(
| 0.03-
- —40(
0.02
N —35(
0.01 _lane
oF
-0.01
-0.02|
: 50
-0.03 4
_ | 11 1 | 11 1 | 11 1 | 11 1 | 11 1 | 11 1 | 1 1 _D
2003 002 001 0 001 002 003
asym_atr2



asym_atll

asym_atl2

asym_atrl

asym_atr2

rund770 000 asym at mutual

asym_atll

12 [ ndf

p0

p1

9.512/14

1.986e-07 £ 1.522e-06

0.9983 = 0.0004

L™ T T |

—-0.01

-0.02

-0.03

-0.04

0.008

0.006

0.004

0.002

-0.002

-0.004

-0.006

-0.008

-0.01

0.015

0.01

0.005

-0.005

-0.01

0.01

0.005

-0.005

—0.01

—0.04 -0.03-0.02 -0.01

asym_atll

B —
_'_

1
1

+II|IIII|IIII|IIII|IIII|IIII|IIII|IIIIIIIII|II

ety

0 001 0.02 0.03 0.04

7 [ ndf 1493714
p0 3.153e-05 £ 4.296e-05

p1 —0.003965 £ 0.010675

—0.04 -0.03-0.02 -0.01

£
E
—

|
—_—
_—

il

0 001 0.02 0.03 0.04

72 [ ndf 9.221 /14
po 3.107e-05 £ 4.720e-05

pi —0.004045 £ 0.011781

{

—0.04 -0.03-0.02 -0.01

1

w

H J[{}{h#ﬂ#mw*mwﬁ’ffﬁ ”

0 001 0.02 0.03 0.04

7 [ ndf 10.15714
po 5.109e-05 £ 4.212e-05

pi —0.003922 £ 0.010462

i

0.04

COorre

0.01

0.005

-0.005

-0.01

-|I|IIII|IIII|IIII|IIII|IIII|IIII|II

—_—

asym_at]2

72 [ ndf 24.76 / 36
p0  —2.809e-05 + 3.957e—05

P —0.003152 £ 0.006405

*#%m%“ﬁqﬂ

| WW

&“ i

—0.03 -0.02 -0.01 0.01 002 0.03
asym_at]2
%2/ ndf 34,56/ 36 -
p0  —1.118e-06 + 9.478e-07
o1 0.9994 + 0.0002 ]
o
—0.01
—0.02 =
—p.03 -
—|I|IIII|IIII|IIII|IIII|IIII|IIII|II
—0.03 -0.02 -0.01 0.01 002 0.03
asym_at]2
| | ]
¥2 | ndf 2753736

0.01

0.005

-0.005

-0.01

0.01

0.005

-0.005

-0.01

-0.015

]

-H
|

+H}

+
*ﬁfﬁﬂﬂ"”‘*‘r'ﬂ‘##mﬁi#ﬁﬁ ﬁw | “

—|I|IIII|IIII|IIII|IIII|IIII|IIII|II

po 3.815e-05 £ 3.867e-05

p1 —0.00686%9 = 0.006280

-0.03

-0.02

—-0.01

asym_atl2

wﬁ{}# -I—WWW&#%HH

-|I|IIII|IIII|IIII|IIII|IIII|IIII|II

0.01  0.02 0.03

1= [ ndf 31.38/736
po 1.855e-05 = 3.437e-05

p1 —0.0009621 £ 0.0055657

!
i

|

0.03

d

tion-fit.

0.02 0.03

png

0.01

0.005

-0.005

-0.01

-0.015

-0.04 -0.03-0.02 -001 0O

asym_atrl

0.01

0.005

-0.005

-0.01

-0.015

-0.04 -0.03-0.02 -001 0O

asym_atrl

%2 / ndf

p0

p1

p——

asym_atrl

72 | ndf

2476135

p0  -2.872e-05 = 3.886e-05

Wﬂmww WW _
Iy

?

|

HWﬂ%Wﬂf T M} _

0.01 0.02 0.03 0.04

%2 / ndf

p0

41.72 /35

1.54e-05 £ 3.46e-05

p1 -0.00437 £ 0.00477

A

0.01 0.02 0.03 0.04

36.98 / 35 )

-1.08e-06 £ 1.20e-06 =

0.999 +

0.000 =

0.01

-0.01

-0.02

-0.03

-0.04 -0.03-0.02 -0.01 0

asym_atrl

0.005

-0.005

-0.01

-0.015

-0.04 -0.03-0.02 -0.01 0

i

0.01 0.02 0.03 0.04

2 { ndf

4+ 4+ 4

31.45/35

po 8.128e-06 £ 3.375e-05

p1 —0.001351 = 0.004647

T I I ||| T

w -

0.01 0.02 0.03 0.04

asym_atr2

0.015— +2 / ndf 31.14 /27
- p0  —4.694e-05 + 4.102e—05
0.01
- p1 —0.01474 + 0.00764
0.005F +
o i ﬂh& ittt “
- | f e # +{} )
-0.005-
~0.01H
B 1
—{],ﬂ15-|—||||||||||||||||||||||||||||||||||||
003 -002 -001 0 001 002 003

0.01

0.005

-0.005

—-0.01

?ﬁ
E
o

i 12/ ndf 19.43/ 27
u p0  _7.299e-06 + 3.664e—05
[ p1 —0.01184 + 0.00687
: | { H«LJHH " H 1

- - J[+ S, #ﬂ } _

0.01

0.005

-0.005

-0.03 -0.02 -0.01

0

asym_atr2

001 0.02 0.03

2 { ndf 35.15/ 27
p0  4.473e—05+ 4.006e—05

p1 —0.001746 £ 0.007495

'I'IIIIIII|IIII|IIII|IIII|IIII|IIII|III

-0.03 -0.02 —0.01 0 001 002 0.03
asym_atr2
%2 [ ndf 16.58 / 27 T
p0  1.329e—07 = 1.041e-06 =
p1 0.9989 + 0.0002 =
o
-0.01 )
-0.021 =
-0.03 _~
_IIIIIIII|IIII|IIII|IIII|IIII|IIII|III
-0.03 -0.02 —0.01 0 001 002 0.03




asym_atll

asym_atl2

asym_atrl

asym_atr2

rund770 000

0.04

0.03

0.02

0.01

-0.01

-0.02

-0.03

-0.04

Al

. 0.03
0.02

0.01

—0.01
-0.02

-0.03

—{].M—{].DE—{].GE—{].M 0 001 0.02 0.03 0.04
asym_atll

as

. 0.04
0.03
0.02

0.01

—0.01
-0.02

-0.03

-0.04-003-002-001 0 001 002 003 0.04
asym_atl1

-0.044

0.02

0.01

—-0.01

-0.02

-0.03

—{].M—{].DB—{].UE—D.M 0 001 0.02 0.03 0.04
asym_atll

asym

0.01 0.02 0.04

0.04

0.03

0.02

0.01

-0.01

-0.02

-0.03

-0.04

=
II|IIII|IIII|IIII|IIIIIIIII|IIII|IIII|IIII|I

-0.03 -0.02 -0.01 0 001 002 003
asym_atl2

as

. 0.031

0.02—

0.01—

-0.01

-0.02—

—p.03 7

-0.03 -0.02 -0.01 0 0.01 0.02 003
asym_atl?

as

. 0.04
0.03
0.02

0.01

—-0.01

-0.02

-0.03

-0.04

-0.03 -0.02 -0.01 0 0.01 002 0.03
asym_atl2

L 0.03

0.02

0.01

-0.01

-0.02

-0.03

Un

at mutual correlation-scat-png

0.04

0.03

0.02

0.01

-0.01

-0.02

-0.03

-0.04

=
II|IIII|IIII|IIII|IIIIIIIII|IIII|IIII|IIII|I

-0.04 -0.03 -0.02 001 0 001 002 003 0.04

as

. 0.031

0.02—

0.01—

-0.01
-0.02—

-0.03—

asym_atri

. 0.031

-0.04 -0.03 -0.02 001 0 001 002 003 0.04

as

. 0.04
0.03
0.02

0.01

-0.01
-0.02

-0.03

asym_atri

*,

.H-.

. 0.04

~0.040LLL

04 -0.03 -0.02 -0.01 0 001 002 0.03 0.04

0.02

0.01

-0.01
-0.02

-0.03

Un

asym_atri

L 0.03

-0.04 -0.03 -0.02 -0.01 0 001 002 003 0.04

asym_atri

0.04

0.03

0.02

0.01

-0.01

-0.02

-0.03

-0.04

=
II|IIII|IIII|IIII|IIIIIIIII|IIII|IIII|IIII|I

-0.03 -0.02

as

0.02—

0.01—

-0.01
-0.02—

-0.03—

—0.01 0 0.01 002 003
asym_atr2

-0.03 -0.02

as

0.03
0.02

0.01

—-0.01
-0.02

-0.03

-0.04

—0.01 0 0.01 002 0.03
asym_atr2

-0.03 -0.02

0.02

0.01

-0.01
-0.02

-0.03

Un

—0.01 0 0.01 002 0.03
asym_atr2

-0.03 -0.02

—0.01 0 0.01 002 0.03
asym_atr2



